
Section 7-4    Logarithms 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

**Logarithms and Exponential Functions are inverses of each other** 

 

                      𝑦 = 2𝑥         its inverse  𝑥 = 2𝑦  or log2 𝑥 = 𝑦 

 

 x y     x y 

 -2 ¼     ¼ -2 

 -1 ½     ½ -1 

 0 1     1 0 

 1 2     2 1 

 2 4     4 2 

 

 

 

 

 

 

Rewrite as an exponential function. 

 

1.       log3 9 = 2    2. log5
1

25
= −2  

 

 

 

 

Rewrite an a logarithm. 

 

     3.        43 = 64          4.         104 = 10,000        

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Demonstrate numerically the property of logarithms. 

 

5.           ln(7 ∙ 8) = ln 7 + ln 8 

 

 

 

 

Fill in the blank. 

 

6. log 5 + log 8 = log _____   7. ln 4 – ln 20 = ln _____ 

 

 

 

8. log 49 = ___ log 7    9. log 100 = ____ 

 

 

 



 

 

 

 

 

 

 

10.        log2 6          11. log5 129         12. log1/2 7 

 

 

 

 

 

Solve. 

 

13. 4𝑥 = 15     14. 34𝑥 = 27𝑥+1 

 

 

 

 

 

 

 

15. log5(𝑥 + 6) + log5(𝑥 + 2) = 1  16. log2(2𝑥 − 1) − log2(𝑥 + 2) = −1 

 

 

 

 

 

 

 

 

 

 

 

 

 

17. 𝑒2𝑥 − 3𝑒𝑥 + 2 = 0 


